SIS 1y

NId 3AIS LIMSVYD a3LIAIY LM
V002 ~VOrE

PCBi/IRZin T, BISHSE, HHRERS, &~

PR5-90A-003

U
{]
J—[E 20

I-—m,w
1A
I——u 00—

I—II.BD—J

HARS# (Technical Data)

JLOD-i—

PR5-100A-004

He1.0

—ry 1

50|
-

D

0
?L

RS ¥ (Technical Data)

L]

o R LT H S ALE ATIA+-1ZPCS

PR5-100A-005

=l
r ”’”—( -
. | |
T e
e oo [T
[_; T .

RS (Technical Data)

8 3E(Center Space)
#iE it (Rated Current)
[E£:38£T(Screw)
124EHF (Terminal Body)
#84T3%E(Screw Torque)

5.5x11.0mm
90A

M5
Brass, Tin Plated

24 1bf - in

PR5-100A-006

8] BE(Center Space)
#iE ik (Rated Current)
44T (Screw)
$24%IH T (Terminal Body)
#24T3145(Screw Torque)

6.0x9.0mm
100A

M4

Brass,Tin Plated
14 Ibf - in

PR5-100A-007

r—]9.50

ﬂ.OD—J

B RS ¥ (Technical Data)

e

?

3

4-2.50 —
5.50

i8] BE(Center Space) 8.25x35.0mm
iz f it (Rated Current) 100A
[E£38%](Screw) M4
124245 T (Terminal Body) Brass;Tin Plated
#RETHI4E(Screw Torque) 14 Ibf +fin

PR5-110A-002

410700~ 4,401
2,90 |

4,00

-t':.m%-—mo—hmi—' -
15.50- 465 6.10- 4-ez0

HARS¥(Technical Data)

PR5-80A-020 PR5-80A-021 PR5-80A-022
11.00—
—u.aa—-] r 0O O N
m_ 100-4}- 3 * 3
87 g o 20— ég«—H.ea o O
T o H i1 : I -
4,00-'—'—- <5 4 !—1!'—! j h 260 —:'?‘
MS-6H 8.00 ms-6m .30 a —
M , }
B @ = 8 s H i 2 ] !
3 o 3 8 h
L - 7] . :
1 4-1 — T -
I——I0.00—J i 4,001— L—9.80—-I -3 %3‘7—] L—u.eo—J -e0 m—J
HARS#¥(Technical Data) FARS¥(Technical Data) RS ¥ (Technical Data)
B BE(Center Space) 4.0x10.0mm i@ EB(Center Space) 6.3x9.8mm 8 B5(Center Space) 8.0x11.2mm
e ifi(Rated Current) 80A e Hif(Rated Current) 80A #hE ik (Rated Current) 80A
[E£38%](Screw) M5 [E£3%](Screw) M5 E£92%](Screw) M5
1R F (Terminal Body) Brass, Tin Plated 1242 F(Terminal Body) Brass,Tin Plated S24EH T (Terminal Body) Brass, Tin Plated
424T414E(Screw Torque) 241bf - in 424T4H%E(Screw Torque) 24 1bf - in #R4THI45(Screw Torque) 24 1bf - in
PR5-80A-024 PR5-85A-002 PR5-90A-004
4,901 R oy
™ 4.90~ . ———
) OO
< }3_00-1_—1—- » : £ t
] 8 1 -I—[- 1.70 120 1S
I 8 f L | E M e
T 8 < mill D—j [§la== =] ﬁ
5 50l § Fosod 3 L#_,#_ ‘t§
> T o0— 8 “ -
o INs) o MS5~6H X
\Y] ™
2 s ¥ | l R
i
N 4120 N §
£ L/ L
i I Y L b —
—7.70— 4-120 J_ L—Q.SO—J ——1.2,00—-I ~ J{D_"‘
4.50 I——u,un—al o250 5.50J
¥ RS ¥ (Technical Data) BARE# (Technical Data) ¥ ARS¥(Technical Data)
[&l  EE(Center Space) 4.5x7.7mm 8  EB(Center Space) 4.2*4.9*9. 8mm i@l E(Center Space) 5.5x11.0mm
£ i (Rated Current) 80A $MEEE M (Rated Current) 85A #ME M (Rated Current) 90A
E£:384T(Screw) M3.5 ELARET(Screw) M5 L4257 (Screw) M5
1R 4RI TF (Terminal Body) Brass,Tin Plated $2#2HEF(Terminal Body) Brass, Tin Plated 12425 F(Terminal Body) Brass,Tin Plated
424TH4E(Screw Torque) 10 Ibf + in SREHAE(Screw Torque) 24 Idf - in #R4THI4E(Screw Torque) 241bf - in

023/

r*l:l O
§ MR AATIUT
2607
Lo )
ts.enj ﬁ
| i
L—l? So—-‘ ‘_an‘L—EB.ED—J j
B RS ¥ (Technical Data)
18] EB(Center Space) 8.2x12.5mm
#R7E Hifi(Rated Current) 100A
L3847 (Screw) M5
124 F (Terminal Body) Brass, Tin Plated
$24T4A4E(Screw Torque) 24 Ibf - in

18 BE(Center Space)

#M7E i (Rated Current)
TE£Z4R4ET(Screw)

1244 F(Terminal Body)
424T4H%E(Screw Torque)

5.5x11.0mm
100A

M6

Brass, Tin Plated

30 Ibf + in

18] BE(Center Space) 6.1x15.5mm
£ME i (Rated Current) 110A
TE£Z424T(Screw) M6

1248 F(Terminal Body)
¥R4T4A4E(Screw Torque)

Brass;Tin Plated
30 Ibf + in

. 1024

AM

=
=

V002 ~VOrEmi= I
NId 3AIS LIMSVO @ILIAIY LM



